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He did not return it; he did not fulfill his obligation

OVERVIEW

X127 taught that if one gives an 210X to his friend (to enable him to be 2pn
o "7 mxn) with the stipulation that it will be returned to the original
owner; then if it was returned, the receiver fulfilled his obligation of
observing the 2°1°»n '7 M¥n, however if he did not return it he did not fulfill
his obligation.'

The 73 teaches us that the rules governing stipulations are derived from
the stipulation that Aw» made with the J2X7 °121 73 °12. Among the
requirements are that the °Xin be repeated both in the positive and the
negative’ and that the intended act and the stipulation be separate from each
other®. If these conditions are lacking then the stipulation is nullified and the
agreement stands (notwithstanding that the stipulation was not met).

ndOIN asks:
— 59995 NI 197 NY N RYY N9 INAN 9NN ON)

And if you will say; why is he not 82y the mx» of 0°1n '7, since it was not
a dual stipulation?!

NIDDIN answers:
— %9195 93 N7 NI NIINT 91919 W

And one can say; that there is a stipulation that needs not to be dual -
— 19 NINN DY 19530 720V INYT NPIY XON D

For instance here where the giver’s intent was that his friend should

"It was given with the stipulation that it be returned; hence since it was not returned it was never given (as
a gift), therefore the receiver never owned it, and therefore cannot fulfill his obligation of the o°1» '7 with
stolen items.

2 See R,7"Y Pwia and R,X0 PUITR.

? This is called 9193 *Xin. The stipulator must state; if the condition is met then the deal becomes effective
and if the condition is not met then the deal is void.

* If one action is done then another (different) action will become effective this is known as TAX 7272 *Xin
AR 7272 Awya.

> See ‘Overview’. If there was no 13 *xin then the *Xin (of returning the »7nX) is nullified, and the nwyn
(of gifting the »7nX) is valid. The gift remains regardless that the conditions were not met.

® mpoin answers that the reason that it is necessary to have a 2193 °Xin, is because we are not certain whether
his stipulation was actually meant to limit the agreement, or because he just wanted to achieve the results of
the stipulation; however he is willing to go through with the agreement regardless. Therefore it is necessary
for him to clarify the negative; if the stipulation is not met, the agreement is voided. However when we are
certain that he does not want the agreement unless the stipulation is carried out (as in the case of 210X, etc.)
then there is no need for a 9193 >Xin.
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make a blessing on the giver’s MnR. The giver never intended to give it away to

the recipient as a gift.
— 115021 1217 N92) R¥NN2A (0w 3,01 91 npY) 71‘1)32% NN NN

And the X7 teaches an even greater novelty than this, in the case

concerning this person who sold his property -
=113 ND) WD NDY INIWT NYIND POINIY NNYTIN

With the intent to go up to »X"w> y7K; however he was not explicit at all

(he did not mention that he is selling his properties because he intends to move to *"'X) -
— ©%927 DN AVaY D927 1N NN 29 9IN) 971917 Y3 P00 KDY 9ID)

And the end was that he did not go up to *"X. He wanted to retract the
sale and return the monies received and reacquire his properties, so X117 29
ruled that his intent is merely words of the heart and are not considered

words. His intent was never articulated and is therefore meaningless. He cannot rescind
the sale. This concludes the citation of that X723.

Moo continues to prove his contention that a 193 *Xin is not always necessary:

— 89995 N9 22 Yy GN ININ NN WD ON YAN W9 NDT DIVN RPIT ¥IYN 19 ON
It therefore seems that it is only because he was not explicit concerning
his intention to travel to °"X, that he cannot retract the sale; however had he
expressed his intention it would have been a valid stipulation even

though he did not repeat the stipulation. It is evident that certain stipulations do not
require a 719 *Rin.

mooIn offers another case where a 9193 °Xin is not required.
— ANY P10 299Y 233 (x,inp 97 xana x32) DNY SN2 NIV 3 591

And a similar situation is mentioned in n»w % P79 concerning a 2w

v % who said -
— 91999 D93 HY2IYN NINY 1PVYY HAN N92IYN NYNRY 1IN N9

I was under the impression that my wife is pregnant, however now that

it turns out that she is not pregnant; my estate should go to that person -
— 1NN NN NIT 0NN IIRPY NN NNAY NN 90Y

Eventually it become known that she was pregnant, and the Xn>92 rules
there that the gift (to that person) is void —

7 See later in footnote # 8 why this following case is a ‘greater’ novelty than the case of 31nX.

¥ This case is a greater novelty than by 27nK; for by 2 nx he made one part of the *Xin when he said T am
giving you the 270X with the stipulation that you return it to me. However, by the case of travelling to "X it
seems that if he would have just indicated that he intends to travel to "X even if he made no stipulation at
all, nevertheless he would be entitled to reclaim his property.

® A van 22w is one who is (deathly) ill. The o»2n instituted that his wishes concerning the distribution of
his assets should be fulfilled as if they were written and recorded properly.
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— NY2IPYN INYN NN ON 2109 IMNY DINY INYTA NN KD NIPIWYNT DIVN
Since initially he had no intent to give it to that person if his wife were

pregnant (even though there was no 193 °Xin) and -
— 199 1nYTa NNV 1973 5195 ININ )3r¥a NY 1) NON

Here too by the 210X there is no need for a %195 "Xin since that this was
his intent (without a doubt) to receive his 310X back.

mooIn asks:
— YDA ININD TAN 9272 AYYPNI ININ NN NI XYY XY INNAN 192101 ND2) 998N ON)

And if you will say; and if he did not return the 170X why is he not 83,
for it is a case of TnR 9272 Awy»y SRin, where the rule is that the SXin is
voided and the act is valid -

— J2INA 5339 1) 33 NINM 129995 NI¥N SNIN Y3 791 (3,79 97 posn) 0NN 1IINTI
As the X7 1) states there; ‘let us see; from where do we derive the rules

concerning all 2a°x81n, from the 810 which 7wn made with the 9"'2y a2 -

— 9 9NN 9272 HYYN TNAN 9272 XN 0NN
And there by the 7"21 3"2 the >Xin was concerning one item (going over
the 777 to fight in °"X) and the act was concerning a different thing;
inheriting the land in 777°77 72¥. However, here both the *Xin (returning the 117nX) and the
wyn (gifting the M7NX) are concerning the 17NX. In such a case the "Xin (returning the
MINR) is 702 and the awyn (gifting the M7nX) is 0*p. It should be a valid gift.

N1B0IN answers:
— M5359AN 99Y XN 90 NIPDN 5N XY DND Y Y

And one can say; that the conclusion of the X713 there is not so (there are
other opinions there who maintain that there is no requirement of 9272 >Xin
IR 7272 Awym 70X) for there are other explanations why the v is valid.

nooIn offers an alternate resolution:
— 1N 9372 AWYNI NI 2301 XYT NI 999 W ') ON

Or you may also say; that which a TR 9272 w21 5X1n is not a valid xin -
— DT AN NT OYIMO DNNIYYI 1399

That is only when the two (the *Xin and the 7wy») contradict one another -

' The x»3 there is explaining the 73w there which states that if a man says to his wife I am divorcing you
n"y that you should return the paper (of the v3) to me; it is a valid divorce. The & 13 concludes that it is not
a valid >Xin since it is 71X 7272 AWYM °X1ND; they both revolve around the (giving of the) va. Since it is not a
valid °X1in the w1770 awyn is valid. See “Thinking it over’.

1 32 says that it is not a valid *Xin since it was not a 2193 *X1n; X217 said since it was not Iwyn? o7IP RN,
therefore the *Xin is 202 and the mwyn is 0»p. They (X271 2R) could conceivably argue with the requirement
of TNX 7272 AWYM TR 1272 XRIN.
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— (DY) 1NNRY 2 PIDT 99930 DX 9 59NNV N YT NYNN %9
As it is in that case of nRw % P99 where the man stipulated, I am giving
you the vx with the stipulation that you should return the paper of the v

to me, in that case the *Xin and the nwyn contradict each other, because -
— 5597 15wy IMIND INY NI 5Y MIND 99T PIYT RPYD oNNT

There we were under the assumption that whenever someone say ni» 5y
it is not considered as if he states that once the condition is fulfilled the

agreement becomes effective retroactively as of now (when the stipulation was
made), but rather the agreement becomes effective when the condition is met, and

therefore -
— YW 1IN NI 993N NINNY 1Y HYIIM NINY R¥NNH

It turns out that she is not divorced until she returns the paper to the

husband and by then the v3 is not hers for she already returned it, so she cannot

become divorced for the ©3 is not in her possession -
$9107 PWOYN IIND N3 DY MMIND Y57 920 NON VAN

However here it is assumed that whoever says »'"'v it is considered as if

he said that the agreement is effective retroactively as of now (when the
stipulation is made). Therefore when he returns the 270X (later) the gift became effective
at the moment of the transfer; therefore he is XX1, since it belonged to the recipient
retroactively from the time that he received the 270X,

SUMMARY

The requirement of a 9192 °Xin is suspended in cases where the intent of the
stipulator is clear that the stipulation must be fulfilled otherwise there is no
agreement. A case of TN 7272 AwWYM °XIN invalidates the °Xin (only
according to some opinions, or) if the two contradict each other (if we
maintain that n"v is 27 PWavnd WX?), otherwise (if we maintain n"y is "wo¥n3
°17) then even X'"72 7wy») °Xin 1s valid.

THINKING IT OVER

Why is it that concerning 9192 >Xin it is the view of ndoIN that by certain
o°Xin this requirement is not necessary, however when it comes to 7w¥»I XN
ThX 1272 here Moo does not argue the same?"”

"2 If the husband would say, here is your v if you return the paper to me. Then it is certain that the giving
becomes effective only after she meets the requirement of the stipulation and returns the v3. At which point
she cannot become nw1an, since she is not in possession of the vi. That X3 however is discussing a case
where he said nin Sy (with the stipulation that...); in which case it is not certain whether n"v is *»7 Ywayn>
(and the gift becomes effective retroactively) or it is not "7 1"w>5ynd (and it is like he said o).

" See (*xnX 7"X2 71"72) n"n1 and T3p MR 92,
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